@ The diagram shows & sketch of the graph of y = (). The graph has @ maxhmmm point at (3, 4) and
inrersects the x-axis at the points {1, 0) and (7. 0) and the y-axis at the poizt (0, 2).
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(a) Sketch the graph of ¥ = f{x + 2). indicating the coordinates of te siaticaary point and the
coordinates of the points of intersection of the graph with the x-axis. 3

(b) Skeich the graph of y = f(x) + 3. indicating the coordinares of the statonary point and the
coordinates of the point of intsrsection of the rraph with the y-axis. [31
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Tha diagram shows a skeich of the graph of y = f(x). The graph passes through the poinis 2. 0)
and (6, 0yand has a miptmum point at (2, =3).
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Sierch the following graphs, using a separate set of azes for each graph. In each case, you should
indicate the coordinates of the stationary point and the coordinates of the points of tersection of
the graph with the x-axis.

fa) ¥=f&x-3)

B y=-2Q®.



